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Chapter 6 Review
Part 1:  Simplify the expressions.  Leave answers with positive exponents only.
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Part 2:  Graph the function and label at least three points on the graph.
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Part 3: Write the result in scientific notation:

18. 3500000
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19. 0.00000685
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20. (0.65 x 10
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21. (4.3 x 106)(8.6 x 10-3)
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22. (3 x 10-2)2
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Part 3:  Classify the model as exponential growth or exponential decay.  Identify the growth or decay factor and the percent of increase or decrease per time period.
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Part 4:  Write an equation to represent each exponential model.


29.




30.



31.


y = ___ (      )x


         y = ___ (      )x


         y = ___ (      )x
Part 5:  Answer the following questions.  Show your work and the formulas that you used.  Circle final answer.
32. You deposited $500 in an account that pays annual compound interest rate of 8%.  How much money will be in your account at the end of 9 years?

33. How much do you need to deposit so you can have a total of $10,000 in an account that pays 5.5% interest rate compounded yearly after 15 years?

34. Write an exponential decay model that represents the following situation.  You buy a car for $15,000 and its value depreciates 15% each year.  Find the value of the car after 5 years.  
35. You deposit $5,000 in an account that has an annual interest rate of 7.5% compounded semi-annually.  How much money will you have in your account after 10 years?  If the bank said they would compound it monthly would that be better for you.  Show the calculations for the same amount of years.
Compounded Semi-Annually




Compounded Monthly
36. During the radioactive decay investigation, one group used the equation y = 150(1 – 0.16)x to model their data.

a.
Use the equation to complete this table.

	Years, x
	Atoms remaining, y

	0
	

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	


b.
Explain what the numbers 150 and 0.16 in the equation represent in this situation.

37. Write an equation for the relationship between x and y given in the table. Then use your equation to complete the table.

	x
	Y

	–2
	

	–1
	

	0
	1000

	1
	700

	2
	490

	3
	343

	4
	


38. What value of r will make the table a representation of an exponential function?

	x
	y

	0
	4

	1
	8

	2
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